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u
(a) Furniture is classified by economists as a private good. *

(i) State two characteristics of a private good.

(ii) Using the characteristics identified in part (i), explain two reasons why furniture is a
private good.
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(b) (i) Whatis meant by a national minimum wage? *

(ii) Using a supply and demand diagram, explain what impact the introduction of a
national minimum wage is likely to have on the labour market.
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(c¢) The use of a national minimum wage is one method of government intervention aimed

at reducing income inequality.

(i) Comment upon whether or not a national minimum wage will be effective in reducing
income inequality.

(ii) Identify and explain two other methods of intervention which a government could
use to reduce inequality.
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(d) In the article, Harrison Lewis claims that “increased competition is good for everyone in

that it raises efficiency” (lines 12—13).

(i) Define each of the following terms:

*  productive efficiency
e allocative efficiency
*  Pareto efficiency.

Productive ffiCIENCY ......oooiiiiiieee s
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*(ii) Discuss whether increased competition will always lead to an improvement in

economic efficiency.
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If you use the following lined pages or additional sheets to complete an answer to any question, *

the question number must be clearly shown.
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